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a7~ 0.48 67 1.1 27 0.55.
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X3 1.1 1.9 x 33 T 1.7
x 4 0.9 1.5 x 34 1.6 151
X5 0.7 1.1 x 35 . 2.0
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%23 2.9 3.0 x b3 1.4 1.7
x 24 1.6 2.1
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1 0.70 2.1 1.5 065 0.75 - ~ - 1.0
2 0.70 156 0.85 0.80 085 085 - - 0.90
3 065 . 0.76 0.65 - 055 0.50 - - - 0. 59
4 055 0.66 055 0.85 - 050 - - - = 0. 61
5 10 0.80 3l 26 | Jo° 18 13 ° 14 1.4
6 0.50 0.50 0.55 048 | 045 - - - 0.49
7 0.50 055 0.50 0.50 . 0.48 - - - 0. 51
8 0.65 0665 1.6 1.4 0.70 0.50 - - 0. 81
9 0.45 . 045 0.48 045 | 045 = - = 0. 46
10 0.50 048 0.50 0.45 0.45 - - - 0. 48
111 0.70 0.50 0.70 . 0.65 0,50 = - - 0. 60.
12 1.1 1.4 1.8 070 | 065 0.70 - o ~0.98
13 0.45 0.45 0.45 0.50 0.45 - - - 0. 46
14 0.45 045 0.45 0.50 0.50 - , - = 0. 47
15 0.50 0.46 0.50 0.90 0.60 050 - - 0. 56
16 0.75 0.90 060 0.60 0.60 - ] - = 0.68
17| .o 0.60 1.1 1.1 0.60 e Sva = 0. 80
18| o042 0.45 0.50 0.45 0.40 = % = 0. 44
19 0.50. 0.50 0.50 0.50 0.45 - .- = 0.49
20 0.50 0.50 0,60 0.50 0.45 - - - 0.51 -
21 0.60 060 0,60 0.50 0.50 - - - 0. 56
22| o080 - 0.60 1 0.50 0.50 - - - 0. 67
23 0.65 14 0.95 0.65 0.50 e, - - 0.74
24 095 '0.95 1.0 0.80 0.65 = - - 0. 86
25 0.40 0.40 045 035 0.36 - - - 0. 39
26 0.45 0.45 0.50 0.50 0.35 - - - 0. 45
27 0.50 0.50 0.50 .0.50 0.50 - - - 0. 50
28 050 0.50 0.50 045 | 050 - - ~ 0. 49
29 045" 0.50 0.50 0.47 - 045 - b 1) - = 0. 47
30 0.50 .0.50 0.65 0.50 0.47 - - - 0. 52
31 0.75 0.65 0.80 0.85 0,50 - - = 0.70
32 0.45 0.35 0.50 0.40 0.35 - - = 0. 41
33 045, 0.50 0.50 0.35 0.40 - - = 0.44
34 0.45 0.50 0.45 .0.42 .0.35 - = = 0.43
35 0.45 0.45 0.47 0.45 042 - - = 0. 45
36| o050 0.47 0.50 0.45 0.45 e = - 0. 47 J
37 0.60 0.50 0.85 . 0,60 045 - - - 0.59 .
38| o035 0.35 0.42 030 | .030 - = 5 0. 34
39| o045 | o042 0.45 045 0.30 = 4 - 0.41
40| 045 ' 045 0.45 045 045 - - - - 0.45
41| o045 0.45 © 060 0.40 045 - - - 0. 47
42 1.2 0.30 - 045 0.65 0.60 - - - 0. 58
43 14 0.45 0.42 0.45 045 1.0 0.65 - 0. 62
44 0.40 0.46 0.40 0.40 . 045 - C - - 0. 42
45 1.0 1.0 0.45 1.4 23 - 1.8 14 - 0.70 1.1




R EHBY — R

(3.73)

et - . ; i uy CIASTF
BAIEBR| IEEREEIFERS T EMIK AR —A 1 ETEY) [HEEe i
‘ & O&FZ +  OGMER
B EISFR CBESVERLT ) 7 EEA HIE &
AEER FHR29F4813H | 13:30 ~  15:00 |mem Lo
SHSRELERAEMER (B £ Sv. h)
No | pdefp()| @ @ 3 @ | ® ® |h#o0| A
46 0.85 13 2.1 0.64 15 - - - T2
47| o071 2.1 2.1 0.72 -064 | - i - 1.1
48 0.60 - 15 1.3 0.64 051 0.65 1.0 - 0. 82
49 052 064 ° 0:72 057 051 - - - 0.59
50 055 .| .10 0.65 057 0.64 1.0 = = 0.71
51 0.48 0.65 0.51 0.76 0.64 0.57 - - 0. 59
52 0.50 051 0.57 1.1 0.76 - - - 0. 66
53| 053 | 072 0.61 0.70 057 |. 1J : : 0. 68
54| 074 1.0 0.64 052 | 1 - - - 0.77
55 0.51 0.64 0.76 0.48 0.52 s, = - = 0, &y
56| 051 0.76 - 16 048 y = - 0. 83
57| o070 1.1 062 0.70 14 - - - 0. 83
58 0.63 0.52 048 0.62 0.70 - - - 0. 58
59| o059 0.48 16 092 0.62 - - = 0.76
60 0.65 1.4 0.70 0.93 082 1.3 - = 0.93
61| 076 0.70 0.62, 11 - 093 - - = 0. 80
62 0.85 0.62 0.92 0.95 1.1 - - - 0. 87
63| o074 1.3 0.82 093 - | 098 1.0 0.82 1.2 0.96
-1l 64| oss 1.2 0.82 1.0 0.92 0.80 1.5 - 0.99






